



$$f(x) = \frac{2x^2 + x - 6}{x^2 + 3x + 2}$$

Domaine

$$f(x) = \frac{x-1}{1-x^2}$$

Domaine

$$f(x) = \frac{x^2 + x - 2}{x + 2}$$

Domaine

$$f(x) = \frac{x^2 - x - 6}{x^2 - 2x - 3}$$

Domaine

$$f(x) = \frac{2x^2 + x - 6}{x^2 + 3x + 2}$$

Zéros

$$f(x) = \frac{x-1}{1-x^2}$$

Zéros

$$f(x) = \frac{x^2 + x - 2}{x + 2}$$

Zéros

$$f(x) = \frac{2x^2 + x - 6}{x^2 + 3x + 2}$$

Asymptotes

$$f(x) = \frac{x-1}{1-x^2}$$

Asymptotes

$$\mathcal{D}_{\mathbf{p}} = \mathbb{R} \setminus \left\{ \pm 1 \right\}$$

$$\frac{2}{3} = \left(\frac{3}{2}\right)$$

$$\int_{1}^{1} - \left| \int_{1}^{1} \left(-1 \cdot 3 \right) \right|$$

$$f(x) = \frac{x^2 + 4x + 4}{x^2 + 3x + 2}$$

 $f(x) = \frac{x+2}{4-x^2}$

 $f(x) = \frac{8-x^3}{2x^2}$

Domaine

Domaine

Domaine

$$f(x) = \frac{x^3 + 1}{x^2 - 9}$$

 $f(x) = \frac{x^2 + 4x + 4}{x^2 + 3x + 2}$

 $f(x) = \frac{x+2}{4-x^2}$

Domaine

Zéros

Zéros

$$f(x) = \frac{8 - x^3}{2x^2}$$

Zéros

$$f(x) = \frac{x^2 + 4x + 4}{x^2 + 3x + 2}$$

Asymptotes

$$f(x) = \frac{x+2}{4-x^2}$$

Asymptotes

$$\mathcal{O}_{1} = \mathbb{R} \setminus \left\{ \pm 2 \right\}$$

$$Z_{\uparrow} = \{2\}$$

$$i(x) = \frac{16x^2 - 25}{4x^2 - 5x}$$

Domaine

$$h(x) = \frac{x^2 - 4x + 4}{x^2 + x - 6}$$

Domaine

$$g(x) = \frac{-3}{x+3}$$

Domaine

$$f(x) = \frac{3}{x-4}$$

Domaine

$$g(x) = \frac{-3}{x+3}$$

Zéros

$$f(x) = \frac{3}{x-4}$$

Zéros

$$\oint(x) = \frac{x^2 - 4x + 4}{x^2 - 4}$$

Zéros

$$i(x) = \frac{16x^2 - 25}{4x^2 - 5x}$$

Asymptotes

$$h(x) = \frac{x^2 - 4x + 4}{x^2 + x - 6}$$

Asymptotes

$$D' = \mathbb{K}_{\star} \setminus \left\{ \frac{2}{4} \right\}$$

$$X = -3$$

$$Y = 1$$